
 

8450 

S0303 

SUZUKI GSX-R 600/ 750 
2006–2010 
Part Nr. 662 

 

864 

854 

Between 
8450 + 864 

123220608 

813RH 

818215 

M6 x 16 DIN7380 
+ 816L 

 

 

M6 x 25   

DIN7984 

810R + 

M6 x 25 DIN7991 
 

82509 + 

M8 DIN985 

M8 x 25 DIN7991 

+ 123200508 

M8 x 30 DIN6921 
+ 807 

M8 x 50 DIN6921 
+ 807 

M6 x 12    

DIN7991 

813LB 

M6 x 35 DIN7380 

+ 817 + 123120906 
+ M6 DIN985 

 

M6 x 30 DIN7991 

+ 123120306 


